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Expand (x + a)(x - b)
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_ Expand (tax + b)(tcx d)
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3. (x-3)(2x+ 1)(Ax+ 1) =8x* + Bx2 + (x -3
Work out the value of A, the value of B and the value of C.
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4. Here is a cuboid.

x-2

x+S

2x+1

All measurements are in centimetres.

5. f(x)=3x3-2x2+4

Express f(x + 2) in the form ax3 + bx? + cx + d.

x4+ 28 ¢ 4 20

Show that the volume of the cuboid is (2x3 + 7x2 - 17x - 10) cm3,
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11) Emu&usiv-% 12)  -5(3-2y) +3(-2+3)' -6 -15y
bl® —3e sk 4SO Juy 31399 U3y o q
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w 1 Section 6
] 1L Express (3x- 1)*inthe form ax*+bx3+ nwn +dx +ewherea,b,c,d and eare integers.
Bl 108 x4 SUc 212 ¢
2. (3x+5)(x-4)(3x-2)=9x3+ A + Bx+ 40
Work out the value of A and the value of B. v
A=-27% m ué rmH. o M,

Q)) 23 *- bt b x -2

e@ Bl >- LSl Jeok -480
Q3 )~ 33~ 1o~ 10

S
QW) A0 _4S -+ 300x
1
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Area and Volume Problems

1.
1sh

Find an expression for the ared of eacl
. b

(a) * !

-

«———21 2

hk ult*wx 4N¢ (’).Nl

2.

r lawn v:::::.,_.,i by

A garden has a rectangula
2) metres

path. The length of the lawn is {x ¢

A metres.

Find an expression for the area of

(b) the lawn and path
(A N.vmun\ 4 U \v 3

E MON.f ooO+mu w

(a) thelawn o

mnu.., 2>OM

3.

Find an expression for the area of the path aro

[
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ape below.
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v a one metr
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1sions are in metres.

() d

1

Alldimel
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>
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-x — 2*

mnwl 3o 42 o
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{th is

(c) the path.

@x;.v;w

und cach lawn- (€ +\:OV

(b)

17 |Page

e A SR

e e

Find an expression for the area of cach square.
All dimensions are in millimetres.

’ D :5 D [
ez 1> lbv«l 2-
A, A RS
m.{ \E(atdshst a7 - Ix——*
T

@™ 224 Y

A&KJNCNX 4G ) mm

Jasmine bought three square pictures. The picture framer mounts them with borders.

What area of border was used to mount each ?.5::%
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ot B=> e3x =1+ 4
Border 2cm wide
Border 3cm wide I+
2c+\W - " =
\ex 9 Border Scmwice
(o 4 e cnn OV x £9) cwe o o X
—LoxX 2SO
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6.
pression (n0 brackets)

gle find a simplified ex {or \he area.

For each rectan
in centimetres,

All measurements are
a 2+ b Sx—=3 c 3Im—4 d 8w-3
3y -2 DSL Dwzl
2% -5 Qo.srl AmiS Q,N, o >
Qi = qwuosw (2w =~ 3w
(X gk
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0a
a Tind an expression with brackets for tho ar

Units are melres,

X+ 3

of the grey rectangle,

!
b Find an expresslon, with brackets, for the area of the orange rectangle,

¢ The arange rectangle sits inside the grey recta
Explain why the grey border area is given by:

ceded
(X =2)x+3) = (x=g)x+2) mz. "=

ngle.
= Aloge —Asmolf

(e +)~(¢ 3)Gerp) ¢

d Simplify the expression for the area of the grey border.

(22’.) '

—

8.

Find expressions for the
i with brackets

i without brackets,
All lengths are in cenlimetres,

areas of each square
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Find an expression for

Alldimensions arc in metres,

1¢ volume of cach shape below,

Find an expression for the volume of each sh
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ape. All dimensions are in centimetres,
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